7T X LGnkEm (MEH)

2—=2Yy ROT7NLITY XL

1 #37% B\
T AL ZEBA - FEHHS 2 A2 1385 2 W3k B b B,

1.1 2—2Uy RO7ILIY XA
A BHa, b
A ged(a, b)

1> B3 {r,} 2EZ,

2° rg<4—a, ri < b, n<+< 0.

3° Tpe1 =0 7251 abs(r,) & H S,

4° rpio (T hrp), n&n+1&LT 3

1.2 ¥sRaA—2Y v R7ILT) XL
AB: B a b
A ged(a, b) & ged(a, b) = ax + by &7z $8E x, v

1o B {r,}, {za}, {va} ZES.
2° (ro, o, Yo) < (a, 1,0), (r1, z1, y1) < (b, 0, 1), n <« 0.
32 1o =0 7251 5° A
4° g < [ra/rogal,
Tpg2 <= Tn — ¢ X Tpqd,
Tpyo < Tp — ¢ X Tpoit,

Yn+2 < Yn — G X Ynt1,
n<n+1&0LT3

5° Oﬁbﬁ(mﬂ%yﬂ (=Tny —Tny —Yn)-
60 (Tm Tn, yn) %ﬂjjjo

1.3 73 XLDRH

(1) a=bg+r D& Z ged(a, b) = ged(b, r) BT B Z &,
(2) 7, FIEDFID X 3° DR TRV ST ERINEZ L,
(3) ged(a, 0) = abs(a) THDZ &,

(4) BiZrp=axx,+bxy, WKRILT DI &,



1.4 1761

a = 1234567890
b = 135792468

r[ 0] = 1234567890, x[ 0] =1, y[ 0] = 0,

r[ 1] = 135792468, x[ 1] = 0, y[ 1] =1,

r[ 2] = 12435678, x[ 2] =1, y[ 2] = -9,

r[ 3] = 11435688, x[ 3] = -10, y[ 3] = 91,

r[ 4] = 999990, x[ 4] = 11, y[ 4] = -100,

r[ 5] = 435798, x[ 5] = -131, y[ 6] = 1191,

r[ 6] = 128394, x[ 6] = 273, y[ 6] = -2482,

r[ 7] = 50616, x[ 71 = -950, y[ 7] = 8637,

r[ 8] = 27162, x[ 8] = 2173, y[ 8] = -19756,
r[ 9] = 23454, x[ 9] = -3123, y[ 9] = 28393,
r[10] = 3708, x[10] = 5296, y[10] = -48149,
r(11] = 1206, x[11] = -34899, y[11] = 317287,
r[12] = 90, x[12] = 109993, y[12] = -1000010,
r[13] = 36, x[13] = -1464808, y[13] = 13317417,
r[14] = 18, x[14] = 3039609, y[14] = -27634844,
o

gcd (1234567890, 135792468) = 18, x = 3039609, y = -27634844

2 X EEH version

=270y ROT7IILITY) ZALTIEEBINIERD 2IHUPBE L LWD T, K
ORIZEER T NI 'Y 2HiTE 5,

21 31—2Yvy ROF7ILTY XL
A B a, b
H: ged(a, b)
1° Z8rg, r,ro ZES,
2° rg<4—a, ry < b.
3° r=0725F abs(ry) %I,
4° 1y 4—-(To % T1),7h 1, riére & LUT 30N



2.2 MERI—2 Uy R7ILTY XA
AN B a,b
A ged(a, b) & ged(a, b) = ax + by Zii7= 3 2, y

1° B8 rg, r1, re, o, T1, Ta, Yo, Y1, Y2 ZEH S,
2° (ro, zo, Yo) < (a, 1, 0), (r1, x1, y1) < (b, 0, 1).
3° ri=07R51X5 A
42 q < [ro/r],
(72, T, Y2) <= (ro —q X 71, To — ¢ X T1, Yo — ¢ X Y1),

(10, o, Yo) < (1, T1, Y1), (11, T1, Y1) < (T2, T2, Y2)
LT3

5 1< 0 &bli (10, 20, Yo) < (=70, —T0, —Y0)-
6° (To, Zo, yO) %Hjjjo

3 B)F version
MR TE WA, BRIICERT S EIRD L DITK D,

3.1 1—2Yvy ROF7ILIY XL
A BHa, b
HA: ged(a, )

1° b=0 %5l abs(a) =17,
2° BB (b, a % b) 1T U THIFIFOH L ZIT\WVW. ZDR D E% H T,

3.2 R —2Vy K7LV LA
AR Boa, b
A ged(a, b) & ged(a, b) = ax + by Z{ii7z K z, y
1° b=07%5
az20D&Z (a,1,0) %
a<0D&ZE (—a, —1, )’E.‘_dej
2° q <« la/b], r(—a—qu LB,
3° B (b, r) THUTHBECHLZITW., ZORVIEE (e, u, v) &
5,
4° (d, z,y) < (e, v, u—qxv) &I,



